[*1.2V-NiMH FEEMGE - FEEe*/

/*Designed by T.Inoue 2016-04-24/
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#include <htc.h>

#include <stdio.h>

_ CONFIG(BOREN & UNPROTECT & PWRTEN & WDTDIS & HS );

#define XTAL_FREQ 20000000 /*20MHz*/

#define JIKAN 30 /*30m F*/

#define _Timerl FREQ 32768

unsigned short volt0,volt1,volt2,volt3;
char dchg0,dchgl,chg0,chgl;

ioport(;

tmrl_chkO;

unsigned short s = 0;

charge00);
charge1();
discharge0();
discharge1();

main()

{
PORTB=0;
PORTC=0;

ioport();



/IT1ICON

T1CKPS1 =0;

T1CKPSO = 0;

T10SCEN = 1; /ITimer Osillator Zff 9

T1SYNC = 0; INEANT17 a7 LIRS 5

TMR1CS = 1; IIRCO B om0 v v 7 A

TMRIIE = 1; 115 A~ —E| 0 IABFFR]

CMCON=0x07; /* 00000111 =X > /3L —& | off */

ADCS1=1; [*Frc*/[*AID Z5#i 7 1~ 7 % Fre(A/D ZEHaEL ¥
IRERNIBIZ 35 */

ADCS0=1;

ADCS2=0;

ADFM=1; [* AJD ZBHaSE R T — Z 1 3AEE DI T 5%/

ADON=1; [*AD =2 N—% 5B ON (2T 5%/

ADIF=0; [FENV AR T T Ty & 01T 5%

ADIE=1; [*AID ZEHAFE T U T= BRI = 9%/

PEIE=1; EA~—1F—_"—Ta—E ) ALZfES

int1=0;

while(1){

dchg0 = 0,dchgl = 0,chg0 = 0,chgl = 0;
if(RB7 == O\
RB4 = L//FEERE

RB5=1;
__delay_ms(JIKAN); /*ms f-2*/



RC2 = 0/} 7E off {HXT
RC3 = 0/} 7E off {HXT
RC4 = 0:///ix 7 off
RC5 = 0:///i% 7 off
__delay_ms(JIKAN);

TMR1ON = 1;

while(1){ I17E7E
if(chg0 == 0){
charge0();
tmrl_chkOQ;
for(i=3;1>05i--){
__delay_ms(JIKAN);

§

j

if(chgl == 0){
chargel();
tmrl_chkOQ;
for(i=3;i>0si--1
__delay_ms(JIKAN);
b

b

if(RB6 == 0){
TMR10N = 0;
break;

b

tmr1_chk();

if(s >= 46800){
TMR10N = 0;
RBO = 1;//757E off
RB1 = 1;//757E off

RB4 = 0;//F7E off {HAT
RB5 = 0;//F7E off {HAT

[*ms %/

/ltimer]l A Z —

[*ms 5%/

[*ms FF>%/

i Geri=Rn

1% A ~—1f8 1k

/3600 #*13=46800 >, 13

1% A ~—{%1k



__delay_ms(JIKAN); [*ms fFO%/

break;

if(RB6 == 0){

RC2 = L/ ERSE

RC3=1;
for(i=10;1>=0si--)1

__delay_ms(JIKAN); [*ms 2%/
¥

RBO = 1;//7e 7 off

RB1 = 1;/55 7 off

RB4 = 0;//757E off {H%T

RB5 = 0;//75 % off 1K 4T

__delay_ms(JIKAN); [*ms fFO%/

while(1){ 1%

if(dchg0 == 0){

discharge0();
for(i=10;>=0si--){
__delay_ms(JIKAN); [*ms fFO%/
b
b
if(dchgl == O
discharge10;
for(i=10;1>=0si--1
__delay_ms(JIKAN); [*ms FFo*/
b
b
if((dchg0 == 10)&&(dchgl == 10){ /B2 T
RC2 =0; I off THAT

RC3 =0; 1108, off AT



break;

if((dchg0 == 20)&&(dchgl == 20){ /72 L

¥
RB4 *=1;
RB5 7= 1;
break;
¥
if(RB7 == 0){
RC2 =0;
RC3=0;
break;
}
}
}
}
}
charge00!
[*EEJEHE*/
CHS2=0;
% AD a9 2%%*/
CHS1=0;
CHS0=0;
__delay_us(5);
GODONE-=1;
while(GODONE);
ADIF=0;

T Ty hE 0T D%

UGN

ISR
AT off 14T
I oft AT

//ANO t°> T volt0 D&,

/* Bus fF>*/

1* A/D 2B AR

I*A/ID ZEHADE D % F TREO*/

[¥E) D A Fr 7

voltO=(ADRESH*256)+ADRESL; /* A/D Z5#ifit 5% volt0 |23 < */

if(volt0 < 303){
RBO = 0;

/1*1.48V/5.0V*1024=303.1 LV */

//FEE on



RB4 "= 1;
chg0 = 0;

}

else if(volt0 >= 303){
RBO = 1;
RB4=1;
chg0 = 10;

charge10{

CHS2=0;
B2 AD 43 5%/

CHS1=0;

CHS0=1;

__delay_us(5);
GODONE=1;
while(GODONE);

ADIF=0;
v " 0T B*

//FE 7B R
IFEEH

//¥1.48V UL F IIFEFET
/I FeE off

IFEFESE T AT
IIFEETE T

[*AN1 B> T voltl @

/* Bus fF>*/

I* A/D 254 BR a6/

[*A/D RN KD D F TREO*/
FRIVIART T v 7B

volt1=(ADRESH*256)+ADRESL; /* A/D Z#if5 5% voltl (2 < */

if(volt1l < 303){
RB1=0;
RB5 "= 1;
chgl =0;

H

else if(volt1 >= 303){
RB1=1;
RB5 = 1;
chgl =10;

//¥1.48V/5.0V*¥1024=303.1 £ v */
//FE7E on
117575 R
HFEEF

I1%1.48V LA E //FE7ESE
/[FeE off
//ﬁ%jﬁTn\ J:T

I FEESE



discharge001
[*EEJEHE*/

CHS2=0; /*ANO t > T volt0 OEE % AD a4
5%

CHS1=0;

CHS0=0;

__delay_us(5); /* bus FFo*/

GODONE=1; 1* A/D ¥ BaAE*/

while(GODONE); [*A/D #0380 5 F THRO*/

ADIF=0; PFEIVIARL T Z v 78y haE 0
W29 5%

volt0O=(ADRESH*256)+ADRESL; /* A/D 2t 5% volt0 123 < */

if(volt0 <= 205) { //¥1.0V/5.0V*1024=204.8 L v */
RC2 = L/ &R T mkT
RC4 = 0/} off

dchg0 = 10; I ERET
H
else if(volt0 < 258){ //%¥1.26V/5.0V*1024=258 X 1 */
RC2 *=1; ITCEE H R
RC4 = 1;//}%7E on
dchg0 = 0; I+
H
else if(volt0 >= 258){ 11*1.26V*/

RC2 = 0;// i EE 8 Ui kT
RC4 = 0/} 7E off

dchg0 = 20; IR L



__delay_ms(JIKAN);

J
discharge1(01
CHS2=0;
D%
CHS1=0;
CHSO0=1;

delay_us(5);

GODONE-=1;

while(GODONE);
ADIF=0;
v " 0T B*

[*ms %/

/¥*AN1 B> T voltl OFELE% AD a4

[* Bus 5o/

I* A/D ZEHaBhR*/

I*AID DD D F TR/
FRIVIART T v T E

volt1=(ADRESH*256)+ADRESL; /* A/D 2 5% volt1 12 < */

if(volt1 <= 205) {

/1*1.0V/5.0V*1024=204.8 £ D */

RC3 = L/ T iRAT

RC5 = 0:///ix7E

dchgl = 10;
b

else if(volt1l < 258){
RC3 *=1;
RC5 = L/}

dchgl = 0;
b

else if(volt1 >= 258)1
RC3 = 0/}
RC5 = 0/}

dchgl = 20;

off
IERT
/1*1.26V/5.0V*1024=258 L 1V */
SRR A A
on
G
11*1.26V*/
e UYHAT

off

I e L



}
__delay_ms(JIKAN); [*ms 2%/

ioport()
{
TRISA=0x3F; /* 100111111 RA0,1,2,3,4,5 > 1T A B> */
TRISB=0xC0; /* 11000000 RBO-5 "I /1 ¥ RB6,7 B IEAT B %/
TRISC=0x03; /* 00000011 RCO,1 B> X AJ), RC2-7T B IHIE L */
PCFG3=0; //ANO,AN1,AN2,AN3,AN4 |%7 7 2 7 input
PCFG2=0;
PCFG1=1;
PCFG0=0;

tmrl_chk({
if(TMR1IF){ NEZA~—10F—N"—T7a—L7=610x+75
TMR1H = 0x80;

TMRI1IF = 0; HNEND AR Y & v k

++s; i )



